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<?xml version="1.0"?>

- «<LandXML language="English" xmIns="http://www.landxml.org/schema/LandXML-1.2"
readOnly="false" version="1.2" time="15:41:57" date="2018-01-10"

xsi:schemalocation="http:/ /www.landxml.org/schema/LandXML-1.2
http:/ /www.landxml.org/schema/LandXML-1.2/LandXML-1.2.xsd"

xmins: xsi="http://www.w3.org//_2001/XM LSchema-instance">
2)

- <Units>

e/

<{Metric directionUnit="decimal degrees"langularUnit="decimaI degrees"

diameterUnit="millimeter" pressureUnit="milliBars" temperatureUnit="celsius"
volumeUnit="cubicMeter" [IinearUnit:"meter”] areaUnit="squareMeter"/>

</Units>

- <Project name="C: \LandXML\LandXMLOutPutTest20180109 dwg'>

- <Feature>

|<Proper‘ty value="MlitLandXmlVer.1.1" Iabel=”applicationCriterion"/>]

</Feature>
</Project>

- <Application version="2018" name="AutoCAD Civil 3D" timeStamp=

3

"2018-01-10T15:41:57"

manufacturerURL="www.autodesk.com/civil" manufacturer="Autodesk, Inc." desc="Civil 3D">
<Author timeStamp="2018-01-10T15:41:57" companyURL="http:/ /www.autodesk.co.jp"
company="Autodesk" createdByEmail="" createdBy="Autodesk"/>

</Application>

- <Coord|nate5ystem|horlzontaICoordlnateSystemName—"g(X Y)"”vertlca\Datum—"T P"

[ horizontalDatum="3GD2011">] s

@

®

- <Feature> )
[<Property value="0.0000" label="differTP"/>|
</Feature> 7
- ()
</CoordinateSystem>
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